Parallel 3-Finger Gripper

HPOS-....

@ 3-Finger parallel gripper with
the use of the cross roller guide

I
0
o
a1
9]
(0]
.
(0]
(0}

@ High repeat accuracy: £0.01Tmm

€2 lever shapes
Short type and long type.

Jaddug Jasui4-g |ajjeled

247



seles S0dH

Jaddug Ja8ui4-g |9||eled

rallel 3 attachment Gripper

M Model Code No.

Series Name
Bore Size

16:16mm
20:20mm

Lever shape
L: Long type

S: Short

type

M Internal Structure Diagram

14

17,

18

16
15

248

10

4ddddbus

1:1 Switch
2:2 Switches

Switch Lead Wire Length

Number of Switches

Alm
B:3m

@Switch Type No Code: No Switch

[ ze135 [ ES13 |

ZE236 | ESe3 |

‘ 2 Wire System Solid State Switch, Straight Type ‘

‘ 2 Wire System Solid State Switch, L-shaped ‘

ZE155 [ ES(P)15 |

ZE255 | ES(P)25 |

3 Wire System Solid State Switch, Straight Type ‘

‘ 3 Wire System Solid State Switch, L-shaped ‘

@Switch details—P.521~528

Parts List

NO Name Material

1 | Main Body Aluminum Alloy

2 | Head Cover Aluminum Alloy

3 | Piston Rod Stainless Steel

4 | Piston Aluminum Alloy

5 | Magnet Resin

6 | Pressure Cover Carbon Steel

7 | Pressure Cover Aluminum Alloy

8 | Lever Carbon Tool Steel

9 | Action Lever Carbon Steel

10 | Rail Carbon Tool Steel

11 | Fulcrum Pin Carbon Tool Steel

12 | Roller High Carbon-chromium Bearing Steel
13| Roller High Carbon-chromium Bearing Steel
14 | Hexagon Socket Head Setscrew | Carbon Steel

15 | Hole Locating Snap Ring | Hard Steel

16| O Ring NBR

17 | Rod Packing NBR

18 | Piston Packing NBR




New-Era.

M Specifications

Fluid Air

Maximum Operating Pressure [MPa] 0.7

Proof Pressure [MPa] 1.05

Operating Temperature ['C] 0~60 (No Freezing)

Lubrication Not Required (Required for sliding parts of the machine)

Pipe Bore M5x0.8

Maximum Operating Cycle  [Cycle/min] 180

Applicable Switch ZE. ES Type (Solid State Switch)

A19;Fi)%n - Bore Sive ?';Aég;g;ﬁ% Oésjlgr%liﬁeg/ anm]g,&g)c]e OutsméeD D)I(mEI)TSIOI']S P'[/clJadéJSCt

tmm] [MPa] [mm] |Close|Open [mm]Note)2 | [g]

HPO5-16-S 16 0.2 8 20 | 27 42x50 156

Double HPO5-16-L 16 0.2 8 20 27 42x50 168

Acting | HPD5-20-S 20 0.15 12 27 | 36 54x58.5 284
HPO5-20-L 20 0.15 12 27 | 36 54x58.5 308

Note 1) The grip force is an effective value when the grip point L is 30 mm and the pressure is 0.5 MPa.
Note 2) The outside dimensions indicate the main body dimensions. (Excluding the lever)

T
. — . T
M Effective Gripping Force (Closing Force) 8
HPO5-16 HPO5-2 o
=1 T F 0 1 B 3,
— — (0]
Z Z (7]
g 8
e BN O o (S 2 o
2 s — y g
G S L
g a o)
o o ©
0 1 O 20 30 40 50 60 0 10 20 30 40 50 60 UQS
Gripping Point L [mm] Gripping Point L [mm] g.
8
M Gripping Point Limit Range
HPOB-1 HPO5-20

Y T T T

Operating Pressure [MPa]
Operating Pressure [MPa]

0 10 20 30 40 50 60 0 10 20 30 40 50 60 70 80
Gripping Point L [mm] Gripping Point L [mm]

249



HP05 Series

CAD data provided

B Dimensions [glaelsMI-Es]

3-M3X0.5
Depth 4.5

When opened : 9.4°3° , ’
When closed :6.4 9, | D300

(Positioning Pin)
[QN]
th mal A m

T . [T 1 [ | [ T TICT 1
T N Iy <1
o % 00 DO
o1 ™
(0p) o |
@ 0| \|©OL0_ O [0 010 ©L0 MSX0 . 8
3. . Y Y N
o 0 (Closing Port)

M5X0 . 8

LD_ —_—
T E N (Opening Port)
i
=)
g 1
o
I
o 2 g32
@
5 @42
8
@ 1 7#3.05
Depth 1.5

(Positioning Hole)

250



New-Era.

CAD data provided

B Dimensions [glaelsHiEN

+08

When opened : 9.1 "5
When closed : 5.9 .9,

3X2-M3X0.5
6.5 7~goa —
ol|' +-+ @ ol o
fop) @
— (6] -+ -1 4} 110
I
50T {9450 T
™ (@]
o a1
© 0] ) M5X0 .8 (0)]
. = D (Closing Port) ‘-_'3_
— (0]
M5X0 .8 (77}
0
z N (Opening Part)
E 3
| 5
| @
Te} o
~ 932 @
@
pa2 o]
g
@

@175

Depth 1.5
(Positioning Hole)

251



Jaddug Ja8ui4-g |9||eled

HP05 Series

CAD data provided

B Dimensions [glae]s¥={eKs]

0
ad
3-M4X0.7
When opened : 13.4"}° Depth 5
When closed @ 84 9, |
. |
H |
[T ]
N
I
-U Ye)
8 o M5X0 . 8
(0] “ O 0 (Closing Port)
@ 0
4. - >
) © M5X0 . 8
()]
(Opening Port)
@
a

@21*8 05

Depth 1.5

(Positioning Hole) Depth 8

252



New-Era.

CAD data provided

B Dimensions [glaelsK={eN N

When opened : 11.97}°
When closed @ 69§,

8.5 880 _ 9X2-M4X0.7
|
I <
O
™ —
[QV] PR ER .
! I
0 0
—~ v (@)
o S M5X0 .8 al
o 0 O 0 (Closing Port) %
~— =
M) —
z M5X0 . 8 o
(Opening Port)
© ™
IV | - é"u
Q
@ T
@
o
3
@
@
@
=
o
@
@ 2 1 ﬁg_DS
Depth 1.5
(Positioning Haole) Depth 8
30

253



